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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Yet life is not literature, nor is literature life; the two are -----—---- .

1) consistent 2) distinct 3) temporary 4) adequate
2-The hurricane would not have had such a/an ---------- effect on the coastal village had
the storm surge not arrived during an abnormally high tide.
1) devastating 2) ultimate 3) calculating 4) obligatory
3- Federica expressed doubt about the existence of true altruism, claiming that no one
makes a ---------- without expecting to receive something in return in one form or
another.
1) facility 2) hypothesis 3) premise 4) sacrifice
4- As a supporter of the value of free trade, Bennett was often called upon to give
speeches around the world ---------- the virtues of unencumbered commerce.
1) monitoring 2) purchasing 3) praising 4) exchanging

5- The efforts to revive the local economy after the departure of the town’s largest
employer were eased by the construction of a new arts center that would infuse the

community with much-needed ---------- .
1) revenue 2) scheme 3) schedule 4) survival
6-Eagerly advocating rehabilitation , Gena has always believed that individuals who have
been imprisoned deserve the opportunity to return to society as ---------- citizens.
1) voluntary 2) crucial 3) productive 4) internal
7-With ----eemem- approval, the parliament accepted the new law that would prohibit
companies from discriminating according to race in their hiring practices.
1) intrinsic 2) fanatical 3) sporadic 4) unanimous
8- Many medical researchers now believe that there is such a thing as being too clean.
The “hygiene hypothesis” suggests that excessively sanitary conditions can ----------- a
person’s resistance to disease.
[) initiate 2) diminish 3) abandon 4) undertake
9- One popular misconception is that these subsidies produce lower food prices, and so
are a ------—-—-- to consumers. This analysis ignores the fact that consumers are also
paying for these subsidies through taxes.
1) transfer 2) device 3) boon 4) status
10-As one of the most popular writers of the 20th century, Jack Kerouac authored several
books that ------- to a wide variety of readers.
1) appeal 2) attribute 3) appear 4) devote

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The climate is expected to increasingly shape and (11) ---=------ by cities. In a vicious circle,
climate change will increase energy demand for air conditioning in cities, (12) --==--n-n- will
add to greenhouse gas emissions. It could also raise temperatures in urban areas (13) ----------
2-6 °C. “Heat, pollution, smog and ground-level ozone [from cities] affect surrounding areas,

reducing agricultural yields, increasing health risks and (14) ------mmm- tornadoes and
thunderstorms. (15) ---------- on urban water supplies are expected to be dramatic,” the report
says. Cities like New Delhi, in the drier areas, will be hit particularly hard.

11- 1) be shaped 2) shaped 3) is shaped 4) be shaping

12- 1) where they 2) they 3) that 4) which

13- 1) high up 2) by 3) for 4) at

14- 1) to produce 2) and produce 3) and producing 4) which produces

15- 1) The impacts of climate change 2) The climate change impact

3) The impact changes in climate 4) The change in climate impact
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PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
our answer sheet.

Passage 1:

Many great inventions are greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered flight on
December 17,1903, were excited and impressed, others reacted with peals of laughter. The
idea of flying an aircraft was repulsive to some people. Such people called Wilbur and Orville
Wright, the inventors of the first flying machine, impulsive fools. Negative reactions,
however, did not stop the Wrights. Impelled by their desire to succeed, they continued their
experiments in aviation. )

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys they earned money by making and selling kites and mechanical
toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a
bicycle-repair shop. In 1896, when they read about the death of Otto Lilienthal, the brothers’
interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they searched
for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the
Wrights tested numerous gliders and developed control techniques. The brothers' inability to
obtain enough lift power for the gliders almost led them to abandon their efforts.

After further study, the Wright brothers concluded that the published tables of air pressure
on curved surfaces must be wrong. They set up a wind tunnel and began a series of
experiments with model wings. Because of their efforts, the old tables were repealed in time
and replaced by the first reliable figures for air pressure on curved surfaces. This work, in turn,
made it possible for them to design a machine that would fly. In 1903 the Wrights built their
first airplane, which cost less than one thousand dollars. They even designed and built their
own source of propulsion-a lightweight gasoline engine. When they started the engine on
December 17, the airplane pulsated wildly before taking off. The plane managed to stay aloft
for twelve seconds, however, and it flew one hundred twenty feet.

By 1905 the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons or in hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own power.
As the contributors of one of the most outstanding engineering achievements in history, the
Wright brothers are accurately called the fathers of aviation.

The idea of flying an aircraft was ----------- to some people.

1) boring 2) needless 3) distasteful 4) exciting
People thought that the Wright brothers had ----------- .

1) acted without thinking 2) been negatively influenced

3) been too cautious 4) acted in a negative way

The Wrights’ interest in flight grew into a ----------- .

1) plan 2) need to act 3) financial empire 4) foolish thought
Lilenthal's idea about controlling airborne vehicles was --~-------- the Wrights

1) disliked by 2) accepted by 3) opposed by 4)proven wrong by
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The old tables were ----------- and replaced by the first reliable figures for air pressure on
curved surfaces.

1) multiplied 2) not used 3) destroyed 4) canceled

Passage 2:

Stainless Steel

In the same year that the Titanic dragged more than 24,000 tonnes of steel to the bottom of the
ocean, a new version of the alloy was born. celebrating its centenary this year is stainless steel,
a material that we are all familiar with and come across in a vast array of everyday items - from
cutlery, jewellery and razor blades, to washing machines and cars. It is also a much-
photographed material in iconic structures, including the Jin Mao Building in Shanghai, the
Chrysler Building in New York City and the Thames Barrier in London. Indeed, in developed
countries there is over 100kg of stainless steel stock per capita.

The term 'stainless' was coined early in the development of the material for cutlery applications
that did not corrode or lose their lustre. Indeed one of the earliest trade names for stainless steel
was Staybrite. The main requirement for stainless steels is that they should be corrosion-
resistant for a specified application or environment. For example, some types of stainless steel
do not resist corrosion in the presence of chlorine - hence problems arise if they are
erroneously selected for indoor swimming pool structures. The technical requirement for a
steel to be classed as stainless is a minimum weight of 10.5% chromium. This can be more
than doubled for harsh environments, and other alloying elements such as nickel are sometimes
added to enhance its structure and properties.

Where does the term “stainless” originate from?
1) Spoons, forks,knives and like tools that should not rust.
2) Tools used in cutting applications.

3) Staybrite.

4) Coins.

Which year did the Titanic sink (state your answer in Hejri Shamsi)?

1) 1378 2) 1312 3) 1305 4) 1291

Suppose the population of the USA were 300 million. Which of the following is the closest
estimate to the total weight of stainless steel stock in that country?

1) 3 million tonnes 2) 24000 tonnes 3) 30 million tonnes  4) 30 billion tonnes

A pipeline laid in sea, is required to carry acid to an offshore plant. Which of the
following materials is most suitable for the pipeline material?

1)Stainless steel containing a minimum of 10.5% chromium and some nickel.

2) Stainless steel containing a minimum of 21% chromium.

3) Low carbon steel containing nickel.

4) Stainless steel containing harsh environments.

Why is the Jin Mao Building in Shanghai so popular with photographers?

1) Because it is located in China.

2) Because it is a much photographed structure.

3) Because it contains stainless steel.

4) Because it is an icon of the city.
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Passage 3:

There are several types of environmental interactions which materials may undergo. Among
them is oxidation, that is, the formation of a nonmetallic surface film (or scale) which occurs
where a metal is exposed to air. Essentially, most metals and alloys experience some form of
superficial oxidation in various degrees. Often, these surface films are not necessarily
disabling, that is, they create protective layers which shield the underlying material from
further attack. A chromium oxide film that forms on stainless steel, or a thin, aluminum oxide
film that protects bulk aluminum are examples of this. In some cases, an oxide layer is even
most welcome, as in insulating SiO; films which readily grow on silicon wafers and thus
provide a basis for microminiaturization in the electronics industry.

The rate of oxidation depends on the kind of film that is forming. For example, a porous film
allows a continuous flow of oxygen to the metal surface which, in turn, leads to a linear
oxidation rate with time. In contrast, the most protective films are known to grow much slower,
that is, in general, logarithmically with time. Somewhere in between are the growth rates for
nonporous oxide layers, as in iron or copper, where a parabolic time-dependence has been
found.

“Superficial” in line 4 is closest in meaning to:

1) stiff 2) surface 3) Internal 4) Intensive
According to the text, oxide layers are:

1) always undesirable 2) always desirable

3) desirable in some instances 4) it was not mentioned

“Shield” in line 5 is closest in meaning to:

1) coat 2) prohibit 3) protect 4) resist

Which statement can be said about the “parabolic oxidation rate”?

1) slower than oxidation rate of a porous oxide

2) faster than linear oxidation rate

3) slower than logarithmic oxidation rate

4) it is the most protective oxidation behavior

Which oxidation feature was not mentioned in the text?

1) protective films 2) oxidation definition

3) oxide growth rate 4) oxidation disadvantages
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Jlguw Quo Jlguw Quo Jlguw Quo Jlguw uo Jlguw Quo Jlguw Quo
1 2 31 4 61 3 91 4 121 3 151 3
2 1 32 1 62 1 92 3 122 4 152 4
3 4 33 1 63 2 93 3 123 3 153 1
4 3 34 1 64 2 94 3 124 4 154 2
5 1 35 2 65 4 95 1 125 4 155 4
6 3 36 2 66 4 96 2 126 2 156 4
7 4 37 4 67 1 97 1 127 1 157 1
8 2 38 2 68 1 98 4 128 3 158 3
9 3 39 1 69 4 99 3 129 1 159 4
10 1 40 2 70 4 100 2 130 4 160 4
11 1 41 3 71 2 101 2 131 3 161 2
12 4 42 3 72 1 102 2 132 2 162 2
13 2 43 3 73 3 103 1 133 1 163 1
14 3 44 4 74 1 104 4 134 4 164 3
15 1 45 1 75 3 105 1 135 3 165 2
16 3 46 4 76 4 106 4 136 1 166 2
17 1 47 2 77 4 107 1 137 4 167 3
18 2 48 3 78 1 108 4 138 1 168 3
19 1 49 3 79 4 109 2 139 2 169 2
20 4 50 1 80 2 110 3 140 4 170 3
21 1 51 1 81 2 111 2 141 1
22 4 52 1 82 4 112 1 142 3
23 3 53 2 83 3 113 3 143 1
24 2 54 2 84 2 114 1 144 4
25 4 55 3 85 1 115 1 145 3
26 2 56 3 86 3 116 4 146 4
27 3 57 1 87 4 117 2 147 3
28 3 58 3 88 1 118 2 148 2
29 1 59 2 89 3 119 1 149 2
30 4 60 4 90 2 120 2 150 2
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